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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly ------—- into violence.

1) agitated 2) degenerated 3) preceded 4) diseriminated
2-  The Democratic Party -- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
3- Some animals can ------—- very high temperatures.
; 1) detach 2) submit 3) obstruct 4) withstand
4- Researchers have discovered that up to one half of all childrén born of alcoholics are

genetically -—------— to alcoholism. '

1) discerned 2) apprehended 3) predisposed 4) impressed
5-  Communication via the Internet gives an important - to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major ——-= for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7-  Itis a commeon ---------- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The ——-—- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be ———- to the seriousness of the crime.

1} inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to ————- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet. |

Commonwealthi'of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) -—-----2= “the British Dominions were recognized as ‘autonomous communities’, (1 2} -
the British Crown. Since 1947, when India chose (13) ===-=ee-=- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---—------ a total of fifty-three member states, is confined
(15) ==-mmmmee- head of the Commonwealth. Given that its member states have little in common
apart from a historieal tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 11} so 2) which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound _ 4) having bound together
13- 1)toremain 2) remaining 3) for remaining 4) to be remained
14- 1) by 2).out of 3) within 4) putside

15- 1) for 2) to who is 3) to that of 4) that she is
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[PART C: Readmg Cumprehensmn

Directions: Read the following three passages and answer the questions by choosing
.rfm best c}mme (I '), (2), }, or (4). Then makﬂ correct c.&mc your answer .sfme

Tropical and temperate rainforests have been subjected to heavy logging and agricultural
clearance throughout the 20th century and the area covered by rainforests around the world is
shrinking. Biologists have estimated that large numbers of species are being driven to
extinction (possibly more than 50,000 a year; at that rate, a quarter or more of all species on
Earth could be exterminated within 50 years) due to the removal of habitat with destruction
of the rainforests. Another factor causing the loss of rainforest is expanding urban areas.
Littoral rainforest growing along coastal areas of eastern Australia is now rare due to ribbon
development to accommodate the demand for sea change lifestyles. Almost 90% of West
Africa's rainforest has been destroyed. Since the arrival of humans 2000 years ago,
Madagascar has lost two thirds of its original rainforest. At present rates, tropical rainforests
in Indonesia would be logged out in 10 years. Several countries, notably Brazil, have
declared their deforestation a national emergency. Amazon deforestation jumped by 69% in
2008 compared to 2007's twelve months, aceording to official govermnment data.
Deforestation could wipe out or severely damage nearly 60% of the Amazon Rainforest by
2030. However, by one estimate, for every acre of rainforest eut down each year, more than
50 acres of new forest are growing in the tropics. The new forest includes secondary forest on
former farmland and so-called degraded forest.

16- Itis stated in the passage that - .
1) total destruction of rainforests may take plage in 50 years
2) rainforests shrink even as the area covered by trees increases
3) Australians leave life in cities to live in coastal communities
4) the temperate rainforests form the world’s largest logging area
17- We understand from the passage that —-—--,
1) 25% of all the earth’s species live in rainforests
2 some urban areas are developed within rainforests
3) the species in tropical rainforests are up to 50000 years old
4) Indonesian rainforests won't, in a decade, produce any logs
18- The passage mentions that --—---—-—-.
1) farmlands in the tropics may tum into rainforests
2) West Africa’s rainforests are mainly in the tropics
3) 69% of the Amazon forests were destroyed in 2007
4) deforestation is considered as a national priority in Brazil
19-  What is the best title for the passage?
1) How to Save Rainforests 2) Deforestation of Rainforests
3) Rainforests: Their Present State 4) Rainforests and the Extinction Df Species
20- The word *littoral’ in the passage (underlined) is closest to —----— .
I ishore’ 2} “hall’ 3) ‘continent’ 4) “tropic’



Download From: MASTERTEST.IR

AMNITY asidipy poue () (paass § pogas) eSSl olj

The cobweb model is an economic model that explains why prices might be subject to
periodic fluctuations in certain types of markets. It describes cyclical supply and demand in a
market where the amount produced must be chosen before prices are observed. Producers'
expectations about prices are assumed to be based on observations of previous prices. One
reason to be gkeptical about this model's predictions is that it assumes producers are
extremely shortsighted. While assuming that farmers look back at the most recent prices in
order to forecast future prices might seem very reasonable, this backward-looking forecasting
(which is called adaptive expectations) turns out to be crucial for the model's fluctuations.
When farmers expect high prices to continue, they produce too much and therefore end up
with low prices, and vice versa. In the stable case, this may not be an unbelievable outcome,
since the farmers' prediction errors (the difference between the price they expect and the prii:e
that a::tua]ly occurs) become smaller every period. In this case, after several periods prices
and quantities will come close to the point where supply and demand cross, and predicted
prices will be very close to actual prices. But in the unstable case, the farmers' errors get
larger every period. This seems to indicate that adaptive expectations is a misleading
assumption. The fact that agents with adaptive expectations may make ever-increasing errors
over time has led many economists to conclude that it is better to assume rational
expectations, that is, expectations consistent with the actual structure of the economy.

The passage mentions that -——--— .

1) there is no economic market without heavy price fluctuations

2) previous prices are an indicator to produgers to set new prices

3) eyclical supply and demand does not happen in stable markets

4) farmers fix prices according to the rules of supply and demand

The passage points to the fact that —=

1) shortsighted producers are interested in the cobweb model

2) future prices can be accurate only if present prices are accurate

3) farmers” adaptive expectations apply quite well to the stable case

4) the cobweb model is a quite stable model rarely subject to fluctuations

Which of the following is likely to increase over time in ‘the unstable case’ mentioned in
the passage?

1) ‘product prices’ 2)*product quantities’

3) ‘unbelievable outcomes’ 4) *farmer’s prediction errors’

We may understand from the passage that adaptive expectations do not -----—- -
1) agree with the actual structure of the economy

2) lead to errorsif they are not interpreted rationally

3) produce desired results if applied over a short time

4) enable farmers to profit from selling their products

The word *skeptical® in the passage (underlined) is closest to ~—--—--,

1) ‘clarify’ 2) *confuse’ 3) *disagree’ 4) ‘misunderstand’
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Sharecropping is a:system of agriculture or agricultural production in which a landowner
allows a tepant to use the land in return. for a share of the crop produced on the land.
Typically, a sharecropping agreement would specify which party was expected to cover
certain expenses, like seed, fertilizer, weed control, irrigation district assessments, and fuel.
Sometimes the sharecropper covers those costs, but they expect a larger share of the crop in
return. The agreement should also indicate whether the sharecropper would use his own
equipment to raise the crops, or use the landlord's equipment. The agreement should also
indicate whether the landlord will pick up his or her share of the crop in the field, or whether
the sharecropper will deliver it. For example, a landowner may have a sharecropper farming
an irrigated hayfield. The sharecropper uses his own equipment; and covers all the costs of
fuel and fertilizer. The landowner pays the irrigation district assessments and does the
irrigating himself. The sharecropper cuts and bales the hay, and delivers one-third of the
baled hay to the landlord's feedlot. The sharecropper might also leave the landlord's share of
the baled hay in the field, where the landlord would fetch it when he wanted hay. Another
arrangement could have the sharecropper delivering the landlord's share of the product to
market, in which case the landlord would get his share in the form of the sale proceeds. In
that case, the agreement should indicate the timing of the delivery to market, which can have
a significant effect on the ultimate price of some crops. The market timing decision should
probably be decided shortly before harvest, so that the landlord has more complete
information about the area's harvest.

26- It is stated in the passage that in a sharecropping agreement -——--— —-.
1) the sharecropper covers the costs of seed and fertilizer
2) an owner’s share of crops is often larger than' the tenants’
3) tenants return only a fraction of the land they use to farm
4) weed control’s expenses are covered by one of the parties
27- The passage mentions that in a sharecropping agreement ------—---- .
1) the method of delivery of the landlord’s crop share is specified
2 sharecroppers are responsible for the health and safety of crops
3) fuel is the only item thewuse of which depends totally on the farmer
4) landlords are expected to provide the necessary farming equipment
28- The passage points to the fact that in a sharecropping agreement ------ —.
1) fuel and fertilizer cost form the main part of the agreement
2) landlords do not necessarily receive crops in return for their share
3) landowners are responsible for irrigating the field for the tenant
4) landlord’s sharé of the baled hay in the field is rarely mentioned
29- We may understand from the passage that in a sharecropping agreement ———---—-—.
1) the harvest time is set well before the contract starts
2) market timing cannot be decided long before the harvest
3) crop prices go up as the time for marketing them approaches
4) crops are sold even before the time for marketing them 1s near
30- The word ‘feedlot’ in the passage (underlined) best relates to the landlord’s ------- —
1)y dairies 2) crop stores 3) livestock 4) orchards
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